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3.7 Multiplying Polynomials M%" (o b2

ex. ms*) = XL\; ==

g K| e~ ~5%
—,7(o¢7<£>-37<7L'Z°"'Zb"é b -6
_ 2| 20 -
ZH\&/\& OAL VO ('[CQ_ o lo—t,
I ‘l"D / l AW’ = Aa+Xo=3X +La+2

* We must multiply each term in the first polynomial by each term in the
second polynomial

ex. (2a - é)g@'ﬁ)
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=bho’—20. +8a —I5a ¥ 5& ~2D

S b~ | Fou +1Dox ~20

ex.EX + 2)%[x* - 5x - 3) yan (L\/L(’
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ex. Expand and simplify
a) (2x - 4)(3x +y - 1) - (3x + 2y)°

b) 2(a + b)(2a - 3b) - (a - 2b)(2a + b)

Homefun: pg.&G #4ab, 5%, 7, 9%, 11\ 12, 14-19, 21, 15*((* means do only aceD




